Multiple Choice Questions Testbank – Chapter 1
Go to Memorandum


Answer the following questions by selecting the appropriate answer from the list below.
Which one of the following statements is correct (or closest to correct)?

A. Economics is the study of money.

B. Economics teaches us how to avoid choices.

C. Economics is the study of profit and loss.

D. Economics can be described as the study of choice.

E. Economics teaches one how to become rich.

Which of the following is key to the way in which economists think?

A. Money

B. Wealth

C. Opportunity cost

D. Poverty

E. Balance sheet

Which one of the following statements is incorrect?

A. Rich people do not experience scarcity.

B. Because resources are scarce, everyone has to make choices.

C. Every time a choice is made, opportunity cost is incurred.

D. The opportunity cost of a particular choice is the value of the best opportunity forgone (sacrificed) as a result of the choice.

E. The central elements of economics are scarcity and choice.

Which one of the following is a microeconomic issue?

A. The rate of economic growth in Japan.

B. The South African inflation rate.

C. The price of maize in Lesotho.

D. The unemployment rate in Zimbabwe.

E. The total production of goods and services in Zambia.

Which one of the following is a macroeconomic issue?

A. The demand for houses in Cape Town.

B. The supply of tomatoes in South Africa.

C. The price of bananas in Natal.

D. The total exports of South African goods and services to the rest of the world.

E. The total sales of beer in South Africa.

Which one of the following is a macroeconomic concept?

A. The price of petrol.

B. The demand for potatoes.

C. The consumer price index.

D. The supply of pumpkins.

E. The e-toll fee in Gauteng.

Which one of the following statements is correct?

A. Wants, needs and demand are essentially simply different terms that have the same meaning.

B. Wants and needs are essentially the same, but differ from demand.

C. Needs and demand amount to the same thing.

D. Wants and demand are essentially the same – people only demand things that they want.

E. Demand differs from wants and needs.

Which one of the following statements is incorrect?

A. Our wants are unlimited.

B. Our needs are limited.

C. Demand differs from wants and needs in the sense that it has to be backed by purchasing power.

D. A typical example of market demand is a demand (claim) by a trade union for increased wages.

E. People demand only the things that they want.

Which one of the following statements is correct?

A. John is hungry. He wants a hamburger. John thus has a demand for a hamburger.

B. Peter is cold. He wants a blanket. Peter thus has a demand for a blanket.

C. Mary is ill. She thus needs medical attention. 

D. Jack has money available to spend on chocolates. However, he may not demand chocolates because he does not need chocolates to survive.

E. Paul has R5, but a bar of chocolate costs R10. Paul thus cannot have a demand for a bar of chocolate.

Which one of the following statements is incorrect?

A. Choice always involves sacrifice.

B. Choice always involves opportunity cost.

C. Economists measure cost in terms of opportunity cost.

D. Economists consider only explicit monetary costs.

E. There are always costs involved in the use of scarce resources.
Which one of the following statements is false?

A. The basic economic problem is one of choice.

B. Choice is necessary because of limited wants.

C. The means available to satisfy wants are limited.

D. The wants of human beings are unlimited.

E. The opportunity cost of producing a given commodity is the value of the best forgone alternative which could have been produced with the factors of production used in its production. 

Rich economies which produce more goods and services each year:

A. do not have an economic problem.

B. still have an economic problem.

C. do have an economic problem but are solving it.

D. give more money to the government to solve its problems.

Which one of the following is a macroeconomic issue?

A. A sharp rise in the price of vegetables.

B. A shortage of maths teachers.

C. A surplus of tomatoes in Limpopo.

D. A rise in the inflation rate.

E. An increase in medical tariffs.

John spends R5 000 on a new carpet.  What is the opportunity cost to him of the carpet?

A. R5 000.

B. The land, labour and capital used in manufacturing the carpet.

C. The other things he could have bought with the R5 000.

D. The reduction in his bank balance due to purchasing the carpet.

E. The increased value of a better decorated house.

The essence of the economic problem is that:

A. there is a need for a price system.

B. inflation exists in many economies.

C. exports seldom pay for imports.

D. resources are limited but human wants are unlimited.

E. two-thirds of the world’s population experience a food shortage.

Which one of the following statements is false?

A. The determinants of a country’s economic growth are an example of a macroeconomic issue.

B. The total production of wine in South Africa is a macroeconomic issue.

C. The determination of the price of maize is a microeconomic issue.

D. Inflation is a macroeconomic issue.

E. The production of tomatoes is a microeconomic issue.

Which one of the following statements is false?

A. Ten per cent of R2 000 is less than 95 per cent of R100.

B. The percentage increase from R1 320 million to R1 560 million is less than the percentage increase from R2 170 million to R2 604 million.

C. Annual production in Country X increased from R570 billion to R610 billion, while annual production in Country Y increased from R293 billion to R320 billion.  Production in Country Y thus grew at a faster rate than production in Country X.

D. Eight per cent of R220 is less than five per cent of R380.
The economic problem arises from the coexistence of:

A. limited wants and unlimited resources.

B. unlimited wants and limited money in circulation.

C. limited wants and limited resources.

D. unlimited wants and unlimited resources.

E. unlimited wants and limited resources.

Microeconomics is a branch of economics that studies:

A. the determination of the gross domestic product.

B. the behaviour of individual decision-making units in the economy.

C. the impact of inflation in South Africa.

D. the effects and consequences of the aggregate behaviour of all decision-making units.

E. both B and D above.

Macroeconomics is a branch of economics that studies:

A. the determination of the price of a specific product.

B. the behaviour of individual decision-making units in the economy.

C. decisions by households regarding the most efficient use of resources.

D. the effects and consequences of the aggregate behaviour of all decision-making units.

E. both A and D above.

Opportunity cost is best defined as: 

A.   the actual money expenditure incurred when a decision is made.

B. the value of the best alternative sacrificed when a choice is made.

C. the total value of all the alternatives given up when a choice is made.

D. the value of time used to make a choice.

E. both B and C above.

An economist decides to give up her job at a commercial bank, where she earns R800 000 per year. She is offered another full-time job for R850 000 per year or can work for herself from home as a private consultant. What is the opportunity cost of working from home?

A. Zero

B. R800 000

C. R850 000

D. R1 650 000

E. R800 000 in addition to the cost of her monthly home loan repayments

A production possibility frontier shows:

A. the maximum combination of inputs that can be used to produce output in a typical economy.

B. the maximum revenue that can be generated from the sale of output produced by limited resources in an economy.

C. the minimum quantities of commodities that can be produced from limited but fully-employed resources in an economy.

D. the maximum quantities of commodities that can be produced from limited but fully-employed resources in an economy.

E. the quantities of factors of production available to produce goods and services in an economy. 

The diagram below shows an economy’s production possibilities for two goods: aeroplanes and motor vehicles.  Use this diagram to answer the question below.
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With reference to the above production possibilities frontier, we can say that:

A. the opportunity cost of producing 0a motor vehicles is 0b aeroplanes.

B. the production of both motor vehicles and aeroplanes appears to require similar resources in similar proportions.

C. the opportunity cost of producing one more motor vehicle is higher at f than at g.

D. the opportunity cost of producing one more aeroplane is higher at g than at f.

E. the opportunity cost of producing 0a motor vehicles is cb aeroplanes.

Use the diagram below, which shows production possibilities for beer and textbooks, to answer this question.
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The opportunity cost of producing an additional textbook would be greatest at:

A. A.

B. B.

C. C.

D. D.

E. E.

The diagram below shows a society’s production possibility frontier for coffee mugs and calculators.  Use this information to answer this question.
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The opportunity cost of producing an additional coffee mug would be lowest at:

A. A.

B. B.

C. C.

D. D.

E. The opportunity cost of producing an additional coffee mug would be equal at A, B, C and D.

Economists tend to disagree because:

A. they tend to be difficult.

B. they might be biased.

C. they use different scales on their production possibility frontiers.

D. one economist might calculate total production in rands and the other economist might calculate total production in dollars.

The problem of economising is essentially one of deciding how to make the best use of

A. virtually unlimited resources to satisfy limited wants.

B. virtually unlimited resources to satisfy virtually unlimited wants.

C. limited resources to satisfy virtually unlimited wants.

D. limited resources to satisfy limited wants.

E. limited resources to generate wants.

Read the following statements and then answer the question that follows.

Economics concerns itself with 

i. a systematic understanding of patterns of production, consumption and distribution of goods and services

ii. a study of money, banking, capital formation and wealth.

iii. a study of how limited resources are used to satisfy unlimited human wants.

iv. a study of the application of scarce means to a multitude of human wants.

Which of the above statements can be associated with the broad subject matter studied in economics?

A. None of them.

B. All of them.

C. Only statements i, ii and iii.

D. Only statements i, iii and iv.

E. All except statement iii.

A basis for the systematic study of economics exists because

A. resources are scarce in relation to material wants.

B. governments interfere with the efficient allocation of scarce resources.

C. individual economic actors cannot be relied upon to make rational economic decisions.

D. resources are plentiful relative to wants, therefore an allocation problem arises.

E. the market consistently fails to allocate resources efficiently, thereby establishing the need to study economics.

Opportunity cost is best defined as

A. the out-of-pocket money costs incurred when a decision is made.

B. the value of the best alternative sacrificed when a choice is made.

C. the value of all the alternatives given up when a choice is made.

D. the value of time lost when a choice is made.

E. Both b and c above.

After being caught allegedly smoking dagga in his hotel room in the West Indies, Herschelle Gibbs receives a fine of R10 000 and a three-match suspension from international cricket. For each match, Gibbs receives a match fee of R25 000 and a further R50 000 per match from his sponsors. He also pays R5 000 per match for insurance against injury. In opportunity cost terms, the cost of this incident to Gibbs can be estimated as

A. R10 000.

B. R35 000.

C. R85 000.

D. R220 000.

E. R235 000.

An economics lecturer decides to give up her job at the University of South Africa, where she earns R350 000 per year. She is offered another full-time job for R400 000 per year or can work for herself from home as a private consultant. What is the opportunity cost of working from home?

A. Zero

B. R350 000

C. R400 000

D. R750 000

E. R350 000 in addition to the cost of her monthly home loan repayments.

Microeconomics is a branch of economics that studies

A. the determination of national income.

B. the behaviour of individual decision-making units in the economy.

C. the impact of unemployment in South Africa.

D. the effects and consequences of the aggregate behaviour of all decision-making units.

E. both B and D above.

Macroeconomics is a branch of economics that studies

A. the determination of total economic activity.

B. the behaviour of individual decision-making units in the economy.

C. decisions by firms regarding the most efficient use of resources.

D. the effects and consequences of the aggregate behaviour of all decision-making units.

E. both A and D above.

The axes of the production possibility curve measure

A. quantities of productive inputs.

B. quantities of finished commodities.

C. quantities of raw materials.

D. values of finished commodities.

E. values of raw materials.

A production possibility curve shows

A. the maximum combination of inputs that can be used to produce output in a typical economy.

B. the maximum revenue that can be generated from the sale of output produced by limited resources in an economy.

C. the minimum quantities of commodities that can be produced from limited but fully-employed resources in an economy.

D. the maximum quantities of commodities that can be produced from limited but fully-employed resources in an economy.

E. the quantities of factors of production available to produce goods and services in an economy.

	The diagram below shows an economy’s production possibilities for two goods: submarines and hospitals. Use this diagram to answer the question below.
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With reference to the above production possibilities curve, we can say that 

A. the opportunity cost of producing 0a hospitals is 0b submarines.

B. the production of both submarines and hospitals appears to require similar resources in similar proportions.

C. the opportunity cost of producing one more hospital is higher at f than at g.

D. the opportunity cost of producing one more submarine is higher at g than at f.

E. the opportunity cost of producing 0a hospitals is cb submarines.

	Use the diagram below, which shows production possibilities for cigars and cameras, to answer the question below.
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The opportunity cost of producing an additional kilogram of cigars would be greatest at

A. A.

B. B.

C. C.

D. D.

E. The opportunity cost of producing an additional kilogram of cigars would be equal at A, B, C and D.

If the production possibility curve for a two-good economy is a straight line, then

A. opportunity costs increase as production of one good rises.

B. opportunity costs fall as production of one good rises.

C. the goods must make use of inputs in similar proportions.

D. the economy must be producing at a point where there is inefficient use of resources.

E. the economy must be experiencing economic growth.

	To answer the question, refer to the production possibility curve below.
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As the output of Good Y increases along the curve, which of the following changes involves the largest opportunity cost?

A. 0 to 5 units.

B. 5 to 10 units.

C. 10 to 15 units.

D. 15 to 20 units.

E. The opportunity cost is the same in each case.

	The diagram below shows a society’s production possibility curve for motor cars and wheat. Use this information to answer the question below.
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The opportunity cost of producing an additional motor car would be lowest at 

A. A.

B. B.

C. C.

D. D.

E. The opportunity cost of producing an additional car would be equal at A, B, C and D.

Which of the following pairs of commodities could most plausibly be associated with a straight-line production possibility curve?

A. Guns and roses

B. Daffodils and roses

C. Guns and butter

D. Motor cars and economics textbooks

E. None of them, because straight-line production possibility curves are never plausible.

	The figures in the tale below show maximum combinations of houses and steel that can be produced per month from a given set of resources in a particular economy. Use this information to answer the question below.


	HOUSES (thousands)
	100
	50
	0

	STEEL (thousand tons)
	0
	75
	X


If the resultant production possibility curve has its normal concave shape, then X will be

A. less than 150 000 tons.

B. more than 150 000 tons.

C. 150 000 tons.

D. 50 000 tons.

E. impossible to estimate, even in these broad terms, from the information given.

Consider a production possibility curve showing maximum combinations of guns and roses that could be produced from a given set of resources. If this curve has a conventional concave shape, then the opportunity cost of producing one more ton of roses could be zero only if

A. the maximum feasible output of roses is already being produced.

B. the maximum feasible output of guns is already being produced.

C. we are operating at a point above and to the right of the frontier.

D. we are producing equal quantities of guns and roses.
The government has R1 billion to spend either on health services or building a new road. It decides on health services. The opportunity cost is

A. R1 billion.

B. a new road.

C. better health services.

Tito, a consultant, gets an opportunity to work on a project over the weekend in which he can earn a quick R2 000. He did, however, arrange to go hunting with one of his friends. He decides that the R2 000 is not worth the effort. The opportunity cost of going away for the weekend is

A. R2 000.

B. biltong.

C. a weekend away from work.

Winnie has R10 to spend on either a hamburger or a new exam pad to take down notes in class. She decides that she rather needs to eat than take down notes. The opportunity cost is

A. hamburger

B. R10

C. a new exam pad to take down notes
Which one of the following is NOT a macroeconomic issue?

A. South Africa’s inflation rate.

B. The total production of goods and services in Botswana.

C. The total production of cement in South Africa.

D. The total number of unemployed persons in South Africa.

E. Economic growth in South Africa.

Which one of the following statements is correct?

A. Macroeconomics is not concerned with scarcity.

B. Macroeconomics is not concerned with limited means.

C. Macroeconomics is not concerned with the choices of individual consumers.

D. Macroeconomics is not concerned with opportunity cost.

E. Macroeconomics is not concerned with unlimited wants.

Which one of the following statements is false?

A. An item of clothing is a durable consumer good.

B. A vacuum cleaner is a durable consumer good.

C. Petrol is a non-durable consumer good.

D. A pair of shoes is a semi-durable consumer good.

E.  An item of household furniture is a semi-durable consumer good.

Which one of the following statements is false?

A. Grapes that are consumed by a household are final goods.

B. Grapes that are used by a housewife to make grape jam for her family are final goods.

C. Grapes that are used in a factory to make grape jam are intermediate goods.

D. Grapes that are used by a company to make wine are intermediate goods.

E. Grapes that are sold by a greengrocer are intermediate goods.

Which one of the following statements is correct?

A. Clothes worn in public are public goods.

B. Economic goods do not have a price.

C. Goods produced by public companies are public goods.

D. A motor car driven on a public road is a public good.

E. Television sets are heterogeneous (differentiated) goods.

Which one of the following statements is correct?

A. Invention and innovation are synonyms.

B. Money is the most important factor of production.

C. Goods and services can be produced only by employing factors of production.

D. Entrepreneur is simply another term for manager.

E. Capital as a factor of production refers to intangible things such as finance.
If all factors of production are equally suitable for the production of different goods, then the production possibility curve (ppc) is likely to be ______ in shape, illustrating a situation of ______ opportunity costs. However, if factors of production are not equally suitable for the production of different goods, then the ppc will be ______ in shape, reflecting a situation of ______ opportunity costs.

A. Linear; increasing; concave; constant

B. Linear; constant; concave; increasing

C. Concave; constant; linear; increasing

D. Concave; increasing; linear; constant

E. Linear; increasing; concave; increasing

	Use the diagram below, which indicates maximum combinations of good X and good Y that can be produced with available resources, to answer the questions below.
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Question (a)

On production possibility curve AC

A. output combinations D and E represent full and efficient use of resources, but A, C and F represent inefficient resource use.

B. output combination D represents the most efficient use of resources.

C. output combinations A, D, E and C all represent full and efficient resource use.

D. output combination A and C represents less efficient resource use than either D or E.

E. the production of goods X and Y require similar factor inputs in similar proportions.

Question (b)

The outward shift of the curve from AC to BC could arise from

A. a decrease in the level of unemployment

B. technological progress that affects good X production and good Y production equally.

C. an improvement in labour productivity only in the industry producing good X.

D. an improvement in labour productivity only in the industry producing good Y.

E. a reallocation of resources from X production to Y production.

A shift in the production possibility curve would be caused by all but one of the following. Which one of the following events would not cause a shift?

A. A rise in the price of one or both of the goods being produced.

B. An improvement in the technology used to produce one of the goods.

C. An improvement in the technology used to produce both of the goods.

D. An increase in the quantity of resources available in the economy.

E. A reduction in the quantity of resources available in the economy.

Which of the following will bring about an inward shift of the production possibility curve?

A. An increase in the level of unemployment.

B. A decrease in the demand for goods and services.

C. An increase in the allocation of resources to the production of capital goods.

D. An increase in the number of skilled people emigrating.

E. A, B and C could all be associated with an inward shift of the ppc.

Which of the following is likely to bring about an outward shift of a country’s production possibility curve?

A. A relaxation of the country’s previously strict immigration laws.

B. An increase in the level of unemployment.

C. A decrease in the level of unemployment.

D. An increase in the demand for goods and services.

E. A reallocation of resources from the production of capital goods to the production of consumer goods.

	The production possibility curve below shows maximum combinations of capital goods per capita and consumption goods per capita that could be produced with available resources in Lesotho.
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If the subsistence level of per capita consumption in Lesotho is shown by the line AA, then

A. Lesotho can choose any combination of capital goods and consumption goods on the curve, without pushing current consumption below the subsistence level.

B. 0A represents the maximum level of capital good production per capita that can be achieved without pushing current consumption below the subsistence level.

C. 0b represents the maximum level of capital good production per capita that can be achieved without pushing current consumption below the subsistence level.

D. 0c represents the maximum level of capital good production per capita that can be achieved without pushing current consumption below the subsistence level.

E. at point d, all economic resources are devoted to the production of consumption goods.
The term ceteris paribus means:

A. that if event X precedes event Z, X has caused Z.

B. that economics deals with facts only, not with suppositions.

C. all other things being equal.

D. what is true for one is seldom true for all.

E. that useful economic theories can seldom be formulated if changes in only one factor are considered.

If we were to say that two variables are positively related, this means that:

A. the relationship between the two is purely random.

B. the relationship between the two would graph as a line sloping downward.

C. the relationship between the two would graph as a horizontal line.

D. the relationship between the two would graph as a line sloping upward.

E. an increase in one variable can be associated with an increase in the other.

F. the relationship between the two cannot be depicted graphically in any simple way.

G. D and E above.

From the information in the table below, it appears that:

	Year
	X
	y

	2010

2011

2012
	6,1

6,2

6,5
	143

125

112


A. x and y tend to exhibit a negative relationship.

B. there is no relationship between x and y

C. x and y tend to exhibit a positive relationship.

D. there is first a negative and then a positive relationship between x and y.

E. there is first a positive and then a negative relationship between x and y.

The use of ceteris paribus techniques in theory building: 

A. is very limiting, because it restricts economics to theories with only one variable.

B. allows economists to conduct laboratory-type tests of their theories.

C. shows that the use of unrealistic techniques will produce implausible theories.

D. allows economists to build useful theories by isolating, one at a time, the effects of changes in a large number of variables.

E. seldom generates useful economic models.

Use the graph to answer Question 72.
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What is the slope of the line?

A. 2

B. 1/2

C. 1/4

D. 1

E. –4

If the line in the above figure were to continue down to the x-axis, what would the value of x be when y is zero?

A. 0

B. 2

C. 2/3

D. –2/3

E. -2

Given the general form of the equation of a straight line as y = a + bx, the y-intercept and the x-intercept respectively are:

A. a and –a/b.

B. b and –a/b.

C. a and –b/a.

D. a and a/b.

E. b and a/b.

If we were to say that two variables are positively related, this means that

A. the relationship between the two is purely random.

B. the relationship between the two would graph as a line sloping downward.

C. the relationship between the two would graph as a horizontal line.

D. an increase in one variable can be associated with an increase in the other.

E. the relationship between the two cannot be depicted graphically in any simple way.

The relationship between two variables that move in opposite directions is shown graphically by a line that is

A. positively sloped.

B. relatively steep.

C. relatively flat.

D. negatively sloped.

E. curved.

	Use the graph below to answer the question below.
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From this it can be concluded that

A. x and y have a positive, linear relationship.

B. x and y are negatively related.

C. as x decreases, y decreases.

D. x and y are inversely related.

E. x and y exhibit no clear relationship.

Given the general form of the equation of a straight line as y = a + bx, the slope is given by

A. y – x 

B. x – y 

C. a + b 

D. a

E. b

Which two of the following statements are false?

1. Macroeconomic theory inevitably involves a lot of simplification and abstraction.

2. Macroeconomic theory can be useful only if it replicates every possible detail of the real world.

3. Because macroeconomic theory uses concepts that do not exist in a physical sense, it cannot serve as a basis for economic policy decisions.

4. One of the main purposes of economic theory is to help us to predict what will happen if something changes.

A. 1 and 2 are false

B. 2 and 3 are false

C. 3 and 4 are false

D. 1 and 4 are false

E. 2 and 4 are false

Which one of the following is NOT a purpose of economic theory?

A. To describe what happens in the real world.

B. To help us to understand what is happening in the real world.

C. To serve as a basis for policy decisions.

D. To help us to explain what is happening in the economy.

E. To help us to predict what will happen if something changes.

Multiple Choice Questions Testbank – Chapter 1
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Answer the following questions by selecting the appropriate answer from the list below.

Which one of the following statements is correct (or closest to correct)?

A. Economics is the study of money.

B. Economics teaches us how to avoid choices.

C. Economics is the study of profit and loss.

D. Economics can be described as the study of choice.

E. Economics teaches one how to become rich.

Which of the following is key to the way in which economists think?

A. Money

B. Wealth

C. Opportunity cost

D. Poverty

E. Balance sheet

Which one of the following statements is incorrect?

A. Rich people do not experience scarcity.

B. Because resources are scarce, everyone has to make choices.

C. Every time a choice is made, opportunity cost is incurred.

D. The opportunity cost of a particular choice is the value of the best opportunity forgone (sacrificed) as a result of the choice.

E. The central elements of economics are scarcity and choice.

Which one of the following is a microeconomic issue?

A. The rate of economic growth in Japan.

B. The South African inflation rate.

C. The price of maize in Lesotho.

D. The unemployment rate in Zimbabwe.

E. The total production of goods and services in Zambia.

Which one of the following is a macroeconomic issue?

A. The demand for houses in Cape Town.

B. The supply of tomatoes in South Africa.

C. The price of bananas in Natal.

D. The total exports of South African goods and services to the rest of the world.

E. The total sales of beer in South Africa.

Which one of the following is a macroeconomic concept?

A. The price of petrol.

B. The demand for potatoes.

C. The consumer price index.

D. The supply of pumpkins.

E. The e-toll fee in Gauteng.

Which one of the following statements is correct?

A. Wants, needs and demand are essentially simply different terms that have the same meaning.

B. Wants and needs are essentially the same, but differ from demand.

C. Needs and demand amount to the same thing.

D. Wants and demand are essentially the same – people only demand things that they want.

E. Demand differs from wants and needs.

Which one of the following statements is incorrect?

A. Our wants are unlimited.

B. Our needs are limited.

C. Demand differs from wants and needs in the sense that it has to be backed by purchasing power.

D. A typical example of market demand is a demand (claim) by a trade union for increased wages.

E. People demand only the things that they want.

Which one of the following statements is correct?

A. John is hungry. He wants a hamburger. John thus has a demand for a hamburger.

B. Peter is cold. He wants a blanket. Peter thus has a demand for a blanket.

C. Mary is ill. She thus needs medical attention. 

D. Jack has money available to spend on chocolates. However, he may not demand chocolates because he does not need chocolates to survive.

E. Paul has R5, but a bar of chocolate costs R10. Paul thus cannot have a demand for a bar of chocolate.
Which one of the following statements is incorrect?

A. Choice always involves sacrifice.

B. Choice always involves opportunity cost.

C. Economists measure cost in terms of opportunity cost.

D. Economists consider only explicit monetary costs.

E. There are always costs involved in the use of scarce resources.
Which one of the following statements is false?

A. The basic economic problem is one of choice.

B. Choice is necessary because of limited wants.

C. The means available to satisfy wants are limited.

D. The wants of human beings are unlimited.

E. The opportunity cost of producing a given commodity is the value of the best forgone alternative which could have been produced with the factors of production used in its production. 

Rich economies which produce more goods and services each year:

A. do not have an economic problem.

B. still have an economic problem.

C. do have an economic problem but are solving it.

D. give more money to the government to solve its problems.

Which one of the following is a macroeconomic issue?

A. A sharp rise in the price of vegetables.

B. A shortage of maths teachers.

C. A surplus of tomatoes in Limpopo.

D. A rise in the inflation rate.

E. An increase in medical tariffs.

John spends R5 000 on a new carpet.  What is the opportunity cost to him of the carpet?

A. R5 000.

B. The land, labour and capital used in manufacturing the carpet.

C. The other things he could have bought with the R5 000.

D. The reduction in his bank balance due to purchasing the carpet.

E. The increased value of a better decorated house.

The essence of the economic problem is that:

A. there is a need for a price system.

B. inflation exists in many economies.

C. exports seldom pay for imports.

D. resources are limited but human wants are unlimited.

E. two-thirds of the world’s population experience a food shortage.

Which one of the following statements is false?

A. The determinants of a country’s economic growth are an example of a macroeconomic issue.

B. The total production of wine in South Africa is a macroeconomic issue.

C. The determination of the price of maize is a microeconomic issue.

D. Inflation is a macroeconomic issue.

E. The production of tomatoes is a microeconomic issue.

Which one of the following statements is false?

A. Ten per cent of R2 000 is less than 95 per cent of R100.

B. The percentage increase from R1 320 million to R1 560 million is less than the percentage increase from R2 170 million to R2 604 million.

C. Annual production in Country X increased from R570 billion to R610 billion, while annual production in Country Y increased from R293 billion to R320 billion.  Production in Country Y thus grew at a faster rate than production in Country X.

D. Eight per cent of R220 is less than five per cent of R380.
The economic problem arises from the coexistence of:

A. limited wants and unlimited resources.

B. unlimited wants and limited money in circulation.

C. limited wants and limited resources.

D. unlimited wants and unlimited resources.

E. unlimited wants and limited resources.

Microeconomics is a branch of economics that studies:

A. the determination of the gross domestic product.

B. the behaviour of individual decision-making units in the economy.

C. the impact of inflation in South Africa.

D. the effects and consequences of the aggregate behaviour of all decision-making units.

E. both B and D above.

Macroeconomics is a branch of economics that studies:

A. the determination of the price of a specific product.

B. the behaviour of individual decision-making units in the economy.

C. decisions by households regarding the most efficient use of resources.

D. the effects and consequences of the aggregate behaviour of all decision-making units.

E. both A and D above.

Opportunity cost is best defined as: 

A. the actual money expenditure incurred when a decision is made.

B. the value of the best alternative sacrificed when a choice is made.

C. the total value of all the alternatives given up when a choice is made.

D. the value of time used to make a choice.

E. both B and C above.

An economist decides to give up her job at a commercial bank, where she earns R800 000 per year. She is offered another full-time job for R850 000 per year or can work for herself from home as a private consultant. What is the opportunity cost of working from home?

A. Zero

B. R800 000

C. R850 000

D. R1 650 000

E. R800 000 in addition to the cost of her monthly home loan repayments

A production possibility frontier shows:

A. the maximum combination of inputs that can be used to produce output in a typical economy.

B. the maximum revenue that can be generated from the sale of output produced by limited resources in an economy.

C. the minimum quantities of commodities that can be produced from limited but fully-employed resources in an economy.

D. the maximum quantities of commodities that can be produced from limited but fully-employed resources in an economy.

E. the quantities of factors of production available to produce goods and services in an economy. 

The diagram below shows an economy’s production possibilities for two goods: aeroplanes and motor vehicles.  Use this diagram to answer the question below.
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With reference to the above production possibilities frontier, we can say that:

A. the opportunity cost of producing 0a motor vehicles is 0b aeroplanes.

B. the production of both motor vehicles and aeroplanes appears to require similar resources in similar proportions.

C. the opportunity cost of producing one more motor vehicle is higher at f than at g.

D. the opportunity cost of producing one more aeroplane is higher at g than at f.

E. the opportunity cost of producing 0a motor vehicles is cb aeroplanes.

Use the diagram below, which shows production possibilities for beer and textbooks, to answer this question.
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The opportunity cost of producing an additional textbook would be greatest at:

A. A.

B. B.

C. C.

D. D.

E. E.

The diagram below shows a society’s production possibility frontier for coffee mugs and calculators.  Use this information to answer this question.
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The opportunity cost of producing an additional coffee mug would be lowest at:

A. A.

B. B.

C. C.

D. D.

E. The opportunity cost of producing an additional coffee mug would be equal at A, B, C and D.

Economists tend to disagree because:

A. they tend to be difficult.

B. they might be biased.

C. they use different scales on their production possibility frontiers.

D. one economist might calculate total production in rands and the other economist might calculate total production in dollars.

The problem of economising is essentially one of deciding how to make the best use of

A. virtually unlimited resources to satisfy limited wants.

B. virtually unlimited resources to satisfy virtually unlimited wants.

C. limited resources to satisfy virtually unlimited wants.

D. limited resources to satisfy limited wants.

E. limited resources to generate wants.

Read the following statements and then answer the question that follows.

Economics concerns itself with 

v. a systematic understanding of patterns of production, consumption and distribution of goods and services

vi. a study of money, banking, capital formation and wealth.

vii. a study of how limited resources are used to satisfy unlimited human wants.

viii. a study of the application of scarce means to a multitude of human wants.

Which of the above statements can be associated with the broad subject matter studied in economics?

A. None of them.

B. All of them.

C. Only statements i, ii and iii.

D. Only statements i, iii and iv.

E. All except statement iii.

A basis for the systematic study of economics exists because

A. resources are scarce in relation to material wants.

B. governments interfere with the efficient allocation of scarce resources.

C. individual economic actors cannot be relied upon to make rational economic decisions.

D. resources are plentiful relative to wants, therefore an allocation problem arises.

E. the market consistently fails to allocate resources efficiently, thereby establishing the need to study economics.

Opportunity cost is best defined as

A. the out-of-pocket money costs incurred when a decision is made.

B. the value of the best alternative sacrificed when a choice is made.

C. the value of all the alternatives given up when a choice is made.

D. the value of time lost when a choice is made.

E. Both B and C above.

After being caught allegedly smoking dagga in his hotel room in the West Indies, Herschelle Gibbs receives a fine of R10 000 and a three-match suspension from international cricket. For each match, Gibbs receives a match fee of R25 000 and a further R50 000 per match from his sponsors. He also pays R5 000 per match for insurance against injury. In opportunity cost terms, the cost of this incident to Gibbs can be estimated as

A. R10 000.

B. R35 000.

C. R85 000.

D. R220 000.

E. R235 000.

An economics lecturer decides to give up her job at the University of South Africa, where she earns R350 000 per year. She is offered another full-time job for R400 000 per year or can work for herself from home as a private consultant. What is the opportunity cost of working from home?

A. Zero

B. R350 000

C. R400 000

D. R750 000

E. R350 000 in addition to the cost of her monthly home loan repayments.

Microeconomics is a branch of economics that studies

A. the determination of national income.

B. the behaviour of individual decision-making units in the economy.

C. the impact of unemployment in South Africa.

D. the effects and consequences of the aggregate behaviour of all decision-making units.

E. both B and D above.

Macroeconomics is a branch of economics that studies

A. the determination of total economic activity.

B. the behaviour of individual decision-making units in the economy.

C. decisions by firms regarding the most efficient use of resources.

D. the effects and consequences of the aggregate behaviour of all decision-making units.

E. both A and D above.

The axes of the production possibility curve measure

A. quantities of productive inputs.

B. quantities of finished commodities.

C. quantities of raw materials.

D. values of finished commodities.

E. values of raw materials.

A production possibility curve shows

A. the maximum combination of inputs that can be used to produce output in a typical economy.

B. the maximum revenue that can be generated from the sale of output produced by limited resources in an economy.

C. the minimum quantities of commodities that can be produced from limited but fully-employed resources in an economy.

D. the maximum quantities of commodities that can be produced from limited but fully-employed resources in an economy.

E. the quantities of factors of production available to produce goods and services in an economy.

	The diagram below shows an economy’s production possibilities for two goods: submarines and hospitals. Use this diagram to answer the question below.
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With reference to the above production possibilities curve, we can say that 

A. the opportunity cost of producing 0a hospitals is 0b submarines.

B. the production of both submarines and hospitals appears to require similar resources in similar proportions.

C. the opportunity cost of producing one more hospital is higher at f than at g.

D. the opportunity cost of producing one more submarine is higher at g than at f.

E. the opportunity cost of producing 0a hospitals is cb submarines.

	Use the diagram below, which shows production possibilities for cigars and cameras, to answer the question below.
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The opportunity cost of producing an additional kilogram of cigars would be greatest at

A. A.

B. B.

C. C.

D. D.

E. The opportunity cost of producing an additional kilogram of cigars would be equal at A, B, C and D.

If the production possibility curve for a two-good economy is a straight line, then

A. opportunity costs increase as production of one good rises.

B. opportunity costs fall as production of one good rises.

C. the goods must make use of inputs in similar proportions.

D. the economy must be producing at a point where there is inefficient use of resources.

E. the economy must be experiencing economic growth.

	To answer the question, refer to the production possibility curve below.
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As the output of Good Y increases along the curve, which of the following changes involves the largest opportunity cost?

A. 0 to 5 units.

B. 5 to 10 units.

C. 10 to 15 units.

D. 15 to 20 units.

E. The opportunity cost is the same in each case.

	The diagram below shows a society’s production possibility curve for motor cars and wheat. Use this information to answer the question below.
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The opportunity cost of producing an additional motor car would be lowest at 

A. A.

B. B.

C. C.

D. D.

E. The opportunity cost of producing an additional car would be equal at A, B, C and D.

Which of the following pairs of commodities could most plausibly be associated with a straight-line production possibility curve?

A. Guns and roses

B. Daffodils and roses

C. Guns and butter

D. Motor cars and economics textbooks

E. None of them, because straight-line production possibility curves are never plausible.

	The figures in the tale below show maximum combinations of houses and steel that can be produced per month from a given set of resources in a particular economy. Use this information to answer the question below.


	HOUSES (thousands)
	100
	50
	0

	STEEL (thousand tons)
	0
	75
	X


If the resultant production possibility curve has its normal concave shape, then X will be

A. less than 150 000 tons.

B. more than 150 000 tons.

C. 150 000 tons.

D. 50 000 tons.

E. impossible to estimate, even in these broad terms, from the information given.

Consider a production possibility curve showing maximum combinations of guns and roses that could be produced from a given set of resources. If this curve has a conventional concave shape, then the opportunity cost of producing one more ton of roses could be zero only if

A. the maximum feasible output of roses is already being produced.

B. the maximum feasible output of guns is already being produced.

C. we are operating at a point above and to the right of the frontier.

D. we are producing equal quantities of guns and roses.

The government has R1 billion to spend either on health services or building a new road. It decides on health services. The opportunity cost is

A. R1 billion.

B. a new road.

C. better health services.

Tito, a consultant, gets an opportunity to work on a project over the weekend in which he can earn a quick R2 000. He did, however, arrange to go hunting with one of his friends. He decides that the R2 000 is not worth the effort. The opportunity cost of going away for the weekend is

A. R2 000.

B. biltong.

C. a weekend away from work.

Winnie has R10 to spend on either a hamburger or a new exam pad to take down notes in class. She decides that she rather needs to eat than take down notes. The opportunity cost is

A. hamburger

B. R10

C. a new exam pad to take down notes

Which one of the following is NOT a macroeconomic issue?

A. South Africa’s inflation rate.

B. The total production of goods and services in Botswana.

C. The total production of cement in South Africa.

D. The total number of unemployed persons in South Africa.

E. Economic growth in South Africa.

Which one of the following statements is correct?

A. Macroeconomics is not concerned with scarcity.

B. Macroeconomics is not concerned with limited means.

C. Macroeconomics is not concerned with the choices of individual consumers.

D. Macroeconomics is not concerned with opportunity cost.

E. Macroeconomics is not concerned with unlimited wants.
Which one of the following statements is false?

A. An item of clothing is a durable consumer good.

B. A vacuum cleaner is a durable consumer good.

C. Petrol is a non-durable consumer good.

D. A pair of shoes is a semi-durable consumer good.

E.  An item of household furniture is a semi-durable consumer good.

Which one of the following statements is false?

A. Grapes that are consumed by a household are final goods.

B. Grapes that are used by a housewife to make grape jam for her family are final goods.

C. Grapes that are used in a factory to make grape jam are intermediate goods.

D. Grapes that are used by a company to make wine are intermediate goods.

E. Grapes that are sold by a greengrocer are intermediate goods.

Which one of the following statements is correct?

A. Clothes worn in public are public goods.

B. Economic goods do not have a price.

C. Goods produced by public companies are public goods.

D. A motor car driven on a public road is a public good.

E. Television sets are heterogeneous (differentiated) goods.

Which one of the following statements is correct?

A. Invention and innovation are synonyms.

B. Money is the most important factor of production.

C. Goods and services can be produced only by employing factors of production.

D. Entrepreneur is simply another term for manager.

E. Capital as a factor of production refers to intangible things such as finance.
If all factors of production are equally suitable for the production of different goods, then the production possibility curve (ppc) is likely to be ______ in shape, illustrating a situation of ______ opportunity costs. However, if factors of production are not equally suitable for the production of different goods, then the ppc will be ______ in shape, reflecting a situation of ______ opportunity costs.

A. Linear; increasing; concave; constant

B. Linear; constant; concave; increasing

C. Concave; constant; linear; increasing

D. Concave; increasing; linear; constant

E. Linear; increasing; concave; increasing

	Use the diagram below, which indicates maximum combinations of good X and good Y that can be produced with available resources, to answer the questions below.
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Question (a)

On production possibility curve AC

A. output combinations D and E represent full and efficient use of resources, but A, C and F represent inefficient resource use.

B. output combination D represents the most efficient use of resources.

C. output combinations A, D, E and C all represent full and efficient resource use.

D. output combination A and C represents less efficient resource use than either D or E.

E. the production of goods X and Y require similar factor inputs in similar proportions.

Question (b)

The outward shift of the curve from AC to BC could arise from

A. a decrease in the level of unemployment

B. technological progress that affects good X production and good Y production equally.

C. an improvement in labour productivity only in the industry producing good X.

D. an improvement in labour productivity only in the industry producing good Y.

E. a reallocation of resources from X production to Y production.

A shift in the production possibility curve would be caused by all but one of the following. Which one of the following events would not cause a shift?

A. A rise in the price of one or both of the goods being produced.

B. An improvement in the technology used to produce one of the goods.

C. An improvement in the technology used to produce both of the goods.

D. An increase in the quantity of resources available in the economy.

E. A reduction in the quantity of resources available in the economy.

Which of the following will bring about an inward shift of the production possibility curve?

A. An increase in the level of unemployment.

B. A decrease in the demand for goods and services.

C. An increase in the allocation of resources to the production of capital goods.

D. An increase in the number of skilled people emigrating.

E. A, B and C could all be associated with an inward shift of the ppc.

Which of the following is likely to bring about an outward shift of a country’s production possibility curve?

A. A relaxation of the country’s previously strict immigration laws.

B. An increase in the level of unemployment.

C. A decrease in the level of unemployment.

D. An increase in the demand for goods and services.

E. A reallocation of resources from the production of capital goods to the production of consumer goods.

	The production possibility curve below shows maximum combinations of capital goods per capita and consumption goods per capita that could be produced with available resources in Lesotho.
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If the subsistence level of per capita consumption in Lesotho is shown by the line AA, then

A. Lesotho can choose any combination of capital goods and consumption goods on the curve, without pushing current consumption below the subsistence level.

B. 0A represents the maximum level of capital good production per capita that can be achieved without pushing current consumption below the subsistence level.

C. 0b represents the maximum level of capital good production per capita that can be achieved without pushing current consumption below the subsistence level.

D. 0c represents the maximum level of capital good production per capita that can be achieved without pushing current consumption below the subsistence level.

E. at point d, all economic resources are devoted to the production of consumption goods.
The term ceteris paribus means:

A. that if event X precedes event Z, X has caused Z.

B. that economics deals with facts only, not with suppositions.

C. all other things being equal.

D. what is true for one is seldom true for all.

E. that useful economic theories can seldom be formulated if changes in only one factor are considered.

If we were to say that two variables are positively related, this means that:

A. the relationship between the two is purely random.

B. the relationship between the two would graph as a line sloping downward.

C. the relationship between the two would graph as a horizontal line.

D. the relationship between the two would graph as a line sloping upward.

E. an increase in one variable can be associated with an increase in the other.

F. the relationship between the two cannot be depicted graphically in any simple way.

G. D and E above.

From the information in the table below, it appears that:

	Year
	X
	y

	2010

2011

2012
	6,1

6,2

6,5
	143

125

112


A. x and y tend to exhibit a negative relationship.

B. there is no relationship between x and y

C. x and y tend to exhibit a positive relationship.

D. there is first a negative and then a positive relationship between x and y.

E. there is first a positive and then a negative relationship between x and y.

The use of ceteris paribus techniques in theory building: 

A. is very limiting, because it restricts economics to theories with only one variable.

B. allows economists to conduct laboratory-type tests of their theories.

C. shows that the use of unrealistic techniques will produce implausible theories.

D. allows economists to build useful theories by isolating, one at a time, the effects of changes in a large number of variables.

E. seldom generates useful economic models.

Use the graph to answer Question 72.
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What is the slope of the line?

A. 2

B. 1/2

C. 1/4

D. 1

E. –4

If the line in the above figure were to continue down to the x-axis, what would the value of x be when y is zero?

A. 0

B. 2

C. 2/3

D. –2/3

E. -2

Given the general form of the equation of a straight line as y = a + bx, the y-intercept and the x-intercept respectively are:

A. a and –a/b.

B. b and –a/b.

C. a and –b/a.

D. a and a/b.

E. b and a/b.

If we were to say that two variables are positively related, this means that

A. the relationship between the two is purely random.

B. the relationship between the two would graph as a line sloping downward.

C. the relationship between the two would graph as a horizontal line.

D. an increase in one variable can be associated with an increase in the other.

E. the relationship between the two cannot be depicted graphically in any simple way.

The relationship between two variables that move in opposite directions is shown graphically by a line that is

A. positively sloped.

B. relatively steep.

C. relatively flat.

D. negatively sloped.

E. curved.

	Use the graph below to answer the question below.
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From this it can be concluded that

A. x and y have a positive, linear relationship.

B. x and y are negatively related.

C. as x decreases, y decreases.

D. x and y are inversely related.

E. x and y exhibit no clear relationship.

Given the general form of the equation of a straight line as y = a + bx, the slope is given by

A. y – x 

B. x – y 

C. a + b 

D. a

E. b

Which two of the following statements are false?

1. Macroeconomic theory inevitably involves a lot of simplification and abstraction.

2. Macroeconomic theory can be useful only if it replicates every possible detail of the real world.

3. Because macroeconomic theory uses concepts that do not exist in a physical sense, it cannot serve as a basis for economic policy decisions.

4. One of the main purposes of economic theory is to help us to predict what will happen if something changes.

A. 1 and 2 are false

B. 2 and 3 are false

C. 3 and 4 are false

D. 1 and 4 are false

E. 2 and 4 are false

Which one of the following is NOT a purpose of economic theory?

A. To describe what happens in the real world.

B. To help us to understand what is happening in the real world.

C. To serve as a basis for policy decisions.

D. To help us to explain what is happening in the economy.

E. To help us to predict what will happen if something changes.
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